Economics for CED

Problem Set #1

1. Read through Chapter 2 of Essential Principles of Economics online 

(http://william-king.www.drexel.edu/top/prin/txt/Neoch/Ch2ToC.html) and answer the multiple choice questions at the end of the chapter. 

2. This question is from Prof. Stephen Marglin’s Social Analysis 72 class, problem set #1, question 1: The Utility Possibility Frontier. It combines the Production Possibilities Frontier and the concept of utility, which we will learn more about next class. For now you just need to understand that there is a trade-off between Peter’s utility (or satisfaction) and David’s.
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1.  On the graph above, which points are feasible? 

2.  Which points are optimal? 

3.  Using the Pareto Improvement concepts we learned in class, describe the 

move from point A to: 

a. Point B 

b. Point C 

c. Point E 

4.  Absent any compensation, which of the above moves would Peter accept? 

(Explain your reasoning.)  Which would David accept?  (Explain your 

reasoning.)

